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TESTING FOR UNUSUAL CONDITIONS IN
STRETCH

Triggers will be turned on for any unusual condition such as overflow,
vnderflow, division by zere, etc. A conditicn register may be set to

canse the pregram to trap out when a trigger goes on., If a trigger is

turned on and a matchking bit in the condition register is a one then the

trap hecornes effective. On the other hand, if a txigger is turned on and

the ynatching bit in the condition register is a zeku, then the trap deen not
take place and a bit ic placed in the suramary regioter. If it is desired to
oet the trigger without effecting either the summary regzister or the trapping
meode then a bit is stored in a blecking rezister which blocks the trisger
from testing with the condition register or changing the summary register.

DEBUGGING: The condition register would be set to zero, At appropriate
places in a program the summary register will be tested to see if any un-
ugual conditions have ceccurred which were not trapped out. The procedure
would be to place the contents of the summary register in the condition
register and rerun the last section of the program. When the program is
rerun a trap will occuxr on each condition and a sub-program will print the
contents of all registors concerned which cauvsed the condition., After the
program bas been debugged there will probably he certain conditions which
sne would not wich to trap in certain sections of the program. If any
conditicn is not to activate a trap it will be blocked Ly a it in the blocking
register,

A test operation will test the summary register, set up the condition
regiater and the bDlocking register in one instruction. This instruction will
e executed in the firot decoder, and it will also place the decoders in a
sequential mode if the summary register io act zevo,
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Test operation would consist of the operation, an indicator bit, and 3 adrs.
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Bit Test Operation g Adr A Adr B Adr C
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Clear summary reyister
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IfBit = 1 Do not clear summary
IfSR = O 3o to next instr and load CR from contents of word stored at

Location C, Also load blocking register froum contents of ward
stored at Location B.

IfSR ¢4 0O Go to insty at A and OR the coentents of the CR ints the BR, load
the CR {romn the SR.
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